1. |2 oints each) i | . o -, g
Ll points each) Multiple choice: Circle the right answer. You do NOT need to
Justify your answers.
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If 18 a strin 3 : : s 3 i :
If & is & string of length two, what is the number of substrings of a? LRy
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(4)2; (B})3; (C)4 (D)5 @1 depends on the string. A
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In how many ways can we distribute 12 (identical) copies of the same book to 5 people:
A T2

Alice, Bob, Casey, David and Emily?
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(A) 125; (B) 5% (C) C(12,5); {}/} C(16,4); (E) C(18,11)
_./

In how many ways can we distribute 12 distinct books to 5 people: Alice, Bob, Casey,
and Emily? \Z-

(A) 125 "Q/r: (C) (12,5 (D) C[(16,4); (E) C(16,1 1).
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TLet X ={1,2,3,-.. } be the set of all natural numbers. If f,g: X — X are two functions
such that fogis bijective, then:
(4) f has to be bijective, but g does not have to be bijective;

(B) g has to be bijective, but f does not have to be bijective;

@Both f and g have to be bijective; %
(D) Neither f nor g have to be bijective.
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